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17. 1022 JIZE M2 NI2Y T Hy
(Bt = 3)
M 2oy

T =|'11.12]'12.12]'13.12|'14.12|15.12|“16.12 | ‘17.8 | ‘17.9 |17.10
s | EHE
H | 69,807|74,835|61,091| 40,379| 61,512| 56,413| 53,130| 54,420 55,707 1,287 24
T 3| 27,881 32,547| 33,192| 19,814|30,637| 16,689 9,716| 10,311 9,876| 2435 ~A42
ME | 1,861 3481 3,157 1,356| 494| 274 39 75 56| A19] A253
1M | 3,642 4,026 5275 3,735 4,206/ 3,053] 2,081 2,291 1,908 A383 A16.7
A 7| | 22,378| 25,040 24,760| 14,723] 25,937| 13,362| 7,596| 7,945| 7912 A33] A04
x| 8+ 41,926| 42,288| 27,899 20,565| 30,875| 39,724| 43,414| 44,109| 45,831| 1,722 3.9
F4b 1 4,193 5,784 4259 2,060] 1,290 1,171 738  720| 1,473 753 104.6
=+ | 8,672 3,288 1,234] 1,013 2,396 915 139] 133 125 A8l A6.0
3 /84| 3,348 323] 247| 735 554 /66| 769 781 12 1.6
CHM | 1,557 1,441 1,146 444) 1243| 644 1,093 945 854 A91 A9.6
=4H| 3,510 3,659| 3,310 258 437| 481 898 872| 866 ABl AQT
23 | 2244 4,421 3,055 3,054| 1,876 3,314| 2,316| 3,094| 2,701] A393] A127
&= | 1,031 585 599| 931| 3,655 3,989 5435 4,927 4,652 2275 AbL6
S| 7,471 2942| 3,566| 2,838 9,065 9,323| 9,765/ 9,470(11,309] 1,839 19.4
MZE - - 54| 433 16 - - - - - -
N 355 629 1,470] 1,197| 1227| 2,382| 2,037 2,154, 1,964 A190] A8.8
M| 1,527 2,478/ 1,981| 2,981| 1608 1,245 690 780 728 452 A67
A5 | 4,110 3,201 1,405 2,023 3,802| 7,421| 8,269 8,077 8,065 A12 AOQ.1
A= | 6,375 9,558 4,909 2,962| 3,411 8,014| 10,354| 11,147| 11,257 110 1.0
SIS 971 954, 588 124/ 114] 271 914| 1,021 1,056 35 3.4
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MEZ | 1,000 558 303 152 75 31 28 26 A2 ATA
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T4 1,323 1,019] 478 499 247, 212 189 201 12 6.3
o=+ | 5,686 629] 129 - - 73 72 68 N4l ADB
2+ 249 118, 218 215 227 241 248] 223 A250 A10.1
O & 231 576| 401 163 228 308 163 132 A31 2190
=S4k 2,786 557 151 60 14 23 22 22 - -
Z3 | 1,367 1,515] 950 878 1,085 852 738 672 ABB|  A89
B 909 314, 229 246 621 695 646 734 88 13.6
S| 3,040 829, 256| 280 563 1,151 1,123] 1,158 35 3.1
NIES - - - - - - - - - -
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= 974 681 969 578 452| 389 408 391 AT A42
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